
Uncertainty in an average; 

 

Absolute Uncertainty in an average of N numbers is;   

 

=    √
(𝑉𝑎𝑙𝑢𝑒 1−𝐴𝑣𝑒𝑟𝑎𝑔𝑒)2+ (𝑉𝑎𝑙𝑢𝑒 2 –𝐴𝑣𝑒𝑟𝑎𝑔𝑒)2+ (𝑉𝑎𝑙𝑢𝑒 3−𝐴𝑣𝑒𝑟𝑎𝑔𝑒)2+⋯…

𝑁(𝑁−1)
 

 

 

 

Example; 

 

Five values given are;    6, 8, 12, 5, 15, 20, 14, 0 

 

The average is;  
6+ 8+ 12+ 5+ 15+  20+ 14+0

8
 = 10 

 

 

Absolute Uncertainty in an average of these 10 numbers is;   

 

=    √
(𝑉𝑎𝑙𝑢𝑒 1−𝐴𝑣𝑒𝑟𝑎𝑔𝑒)2+ (𝑉𝑎𝑙𝑢𝑒 2 –𝐴𝑣𝑒𝑟𝑎𝑔𝑒)2+ (𝑉𝑎𝑙𝑢𝑒 3−𝐴𝑣𝑒𝑟𝑎𝑔𝑒)2+⋯…

𝑁(𝑁−1)
 

 

 

=    √
(6−10)2+ (8 –10)2+ (12−10)2+ (5 –10)2 + (15 –10)2 + (20 –10)2 + (14 –10)2 + (0 –10)2

10(10−1)
 

 

 



=    √
(−4)2+ (−2)2+ (2)2+ ( –5)2 + (5)2 + (10)2 + (4)2 + ( –10)2

10(9)
 

 

=    √
16+ 4 + 4 + 25 + 25 + 100 + 16 + 100

90
   =    √

290

90
  =     √3.2  = 1.79 

 

   
 

 

 

 

 

 

 


